MATHS SAMPLE QUESTIONS FOR 2010 MBA ENTRANCE EXAMINATIONS
1. If x = 3 and y = 2, then 2x + 3y = ?

A. 13

B. 12

C. 14

D. 11

2. If the profit on an item is GH¢4 and the sum of the cost and the profit is GH¢20, what is the cost of the item?

A. GH¢17

B. GH¢16

C. GH¢18

D. GH¢20

3. The sum of the prime numbers between 1 and 15 is 

A. 42



B. 41



C. 40



D. 39

4. The number 327,036 was corrected to 327,000. Which of the following can exactly describe the degree of approximation used?

I. to 3 significant figures

II. to 4 significant figures

III. to the nearest hundred

IV. to the nearest thousand

A. I and III only

B. II and IV only

C. I, II and III only

D. I, II, III and IV only

5. The profit on a business was shared between two partners P and Q in the ratio 3: 4. 

If Q received GH¢8,000 more than P, the profit was

A. GH¢56,000

B. GH¢42,000

C. GH¢32,000

D. GH¢24,000

6. A sum of money invested at 6% per annum simple interest increased to GH¢14,750 after 3 years. The sum invested was

A. GH¢12,000

B. GH¢12,500

C. GH¢12,800

D. GH¢13,000

7. Evaluate 
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8. 33 of the students in a class play either football or table tennis. If 22 students play football and 18 play table tennis how many students play football only?

A. 7

B. 11

C. 15

D. 17

9. If X = {1, 2, 3, 4} and Y = {3, 5, 6}. The elements of (X (Y) ( X are

A. {1, 2, 3, 4}

B. {3, 5, 6}

C. {3}

D. {1, 2, 4}

10. Expand 
(2y – 5)(y – 3)

A. 2y2 – 11y + 15

B. 2y2 – 5y + 15

C. 2y2 – y + 15

D. 2y2 + y – 15 

11. Make y the subject of the relation 
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12. If S = ut + 
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13. A square tile measures 20cm by 20cm. How many of such tiles will cover a floor measuring 5m by 4m?

A. 500

B. 400

C. 320

D. 250

The scores of students in a class test are given in the table below. 

	Marks 
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Frequency
	0
	3
	1
	2
	3
	4
	2
	1
	1
	0


Use this information to answer questions 37 to 41.

14. The number of students who took the test is

A. 15

B. 17

C. 20

D. 55

15. The number of students who scored at least 5 is

A. 3

B. 9

C. 10

D. 11

16. The mean score is

A. 5.1

B. 5.0

C. 4.9

D. 4.8

17. The modal score is

A. 4

B. 5

C. 6

C. 7

18. The median score is 

A. 3

B. 4.5

C. 5

D. 5.5

19. A suit sells GH¢375 when it is marked down to 75% of its suggested retail price. What is the suggested retail price?

A. GH¢400

B. GH¢500

C. GH¢300

D. GH¢600

20. If a sales representative earned GH¢90,000 in1994, and GH¢100,000 in 1995, what is the percentage change in income from 1994 to 1995?

A. 12.12

B. 11.11

C. 13.13

D. 14.14
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